BT TRIA O - HEHHEE X T 3;5217&08)% KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,077 87061 41587 45474
RIRET1T 5 15 7 8
RIRET2T 24 53 25 28
RIRET3T 159 518 254 264
RIRET4T 388 981 482 499
B 576 1,567 768 799
REH 2,638 6,218 2,917 3,301
L&A 4,195 9,586 4,545 5,041
5E 2,515 6,015 2,918 3,097
B AN 1,233 2,827 1,323 1,504
BERT 1,163 1,835 866 969
BER2T 669 1,325 638 687
BHERST 398 911 451 460
g 2,230 4,071 1,955 2,116
BARE 255 655 328 327
= 2,201 5,298 2,494 2,804
hERE 619 1,462 671 791
e 2,364 5219 2,515 2,704
25 L ET 2,250 5,229 2,499 2,730
B &AL BT 77 161 66 95
HEFILET1T 577 1,262 591 671
HEFILET2T 607 1,374 651 723
HEZFILAT3T 589 1,395 688 707
g 1,850 4,192 1,996 2,196
B & it B Fr ET 685 1,673 814 859
BHEREBET1T 606 1,252 600 652
BHERERET2T 755 1,774 870 904
BHERERETST 759 1,635 740 895
HEFMHET4T 459 1,010 490 520
HEHFMHETST 802 1,650 798 852
HEHFHET6T 870 2,025 973 1,052
HEFRET7T 839 1,932 928 1,004
HERERETST 70 210 101 109
£t| 5160 11,488 5,500 5,988
HEF R FET 1,818 3,963 1,920 2,043
S|EFET1T 558 1,509 753 756
S|EFET2T 764 1,837 875 962
S|EFET3 T 708 1,426 672 754
g 2,030 4,772 2,300 2,472
ERE1T 557 1,342 644 698
EIRET2T 382 1,002 494 508
EREIST 466 1,321 639 682
EIRETAT 688 1,565 718 847
EIZEIST 463 969 487 482
g 2,556 6,199 2,982 3217
MEH 2,792 6,403 3,037 3,366
J\THET1T 26 29 10 19
J\THET2T 26 64 33 31
J\THEI3T 58 131 62 69
B 110 224 105 119
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